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QUESTION 1

Which two commands identify the serial number of a Cisco router? (Choose two.)
A. show run

B. show inventory

C. show environment

D. show version

E. show archive

Correct Answer: BD

QUESTION 2

Which two statements about Telnet and SSH are true? (Choose two.)

A. SSH is a protocol that provides a secure remote access connection to network devices.
B. SSH uses the well-known TCP port 23 for its communication.

C. A Telnet network management connection is dropped when a router reboots.

D. Telnet is a protocol that provides a secure remote access connection to network devices.
E. Telnet is preferred over SSH for security reasons.

Correct Answer: AC

QUESTION 3

Which two features are associated with single-mode fiber-optic cable? (Choose two.)
A. consists of a single strand of glass fiber

B. has higher attenuation that multimode fiber

C. carries a higher bandwidth that multimode fiber

D. costs less than multimode fiber

E. operates over less distance than multimode fiber

Correct Answer: AC

QUESTION 4

Latest 100-490 Dumps | 100-490 Practice Test | 100-490 Exam Questions

2/3


https://www.passapply.com/100-490.html
https://www.passapply.com/100-490.html
https://www.passapply.com/100-490.html

VCE & PDF https://www.passapply.com/100-490.html
2024 Latest passapply 100-490 PDF and VCE dumps Download
PassApply.com

Which two pieces of information about a neighboring device are displayed when you use the CLI command show cdp
neighbor? (Choose two.)

A. platform

B. uptime

C. device ID

D. Cisco |0S Software version
E. IP address

Correct Answer: AC

QUESTION 5

Which two statements about a SmartJack are true? (Choose two.)

A. It provides signal conversion.

B. It acts as a concentration point for dial-in and dial-out connections.

C. It operates at Layer 2 of the OSI model.

D. It provides channel testing.

E. It regenerates the signal to compensate for signal degradation from line transmission.

Correct Answer: AE
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